Please use complete sentences.  Avoid using abbreviations.  Use a math symbol editor like Latex.  Please, no stuff like <=.

[image: image1.png]W1. Write a short paragraph comparing and contrasting the method of undetermined co-
efficients and variation of parameters, How are they similar, how are they different
If you had your choice, which method would you use





[image: image2.png]W2. Now consider the driven differential equation:
my"(t) + ey (t) + ky(t) = mg + Vi.

‘Why would the method of undetermined coefficients be difficult to use for this problem?




